e A& o1 A— ®#1 f

B
. 72
3y == =ie
) 2 || | | So |
T- 100 g;% ;1
=2 EF] 26 E
i ow e omllmmel B M e B By illm | WEX||EEE | cew||aaE awE (D * =% B
K | |5 R & = | | = ey iy g = i = = )
BB HES WA || XS |8 B||XnE||B B z S = © T
T - O 0 O O )
3 8 8 g 8%
75820
E3
AR
e T
T 3
om e | 25260 m
R k4 00y | i
_ Hee H  ooH o004 2661H 26607 o0.003 [25 4 H  26.321H  25.807H H ‘ A ¥\
T
SEHIPA H o 226H 2264 26.61H 266121 H  oookossroH 26.5713H 26 143H] H b ®
é‘ _w
He0.20  H 7.04H 10204  26.68H  26.684H H oosy & H 26636 26206 H 1. 6%
T %
%_:—Ipz H o 27H 1204  2671H 267141 oo 58 f s oy H o7
8 ot
3
HNo. 1 H 7.06H  20.00H  26.75H  26.754H H  o.00aH H  26.713H  26.283H H 1. 408
- \
i
Ts F1.50%
ZEHP3 H 560 25604 26.80H 268021 H o002 2675 H 26.750H  26.320H] H
S
AV
A Fioz |!
He210 H 6.50H 32104  26.83H  26.832H H o oozq T5,2H 26796 26366 H 27
2\22
\2
ik
% m
I L1, 45% H
SEHPa Y 6.67H 38.77H  26.87H  26.875H H o005 26833 ) 26.834H  26.40aH] H ‘
£ Hwo.2 H 123 4000  26.89H  26.893H H oo} H 26838  26.408H H oo W
Heooo H 1.70H  4.70H  26.90H  26.904H H o0 oo} H 26844  26.414H H o
Jn
=t
= T
&= 2. 28% it
I3 SHies H 1a1H  49.1H 2692 26.932H H oo H 26.873H  26.443H H =1
] % &
© L1734 >
He2.50  H 3.33H  s2.50H  26.92H  26.930H H oowod & H 26886 26 456 H 1. 734 a
A2 =
3 Eid
o
2R
= &
¥ o
Hno. 3 H 7.50H  60.00H  26.94H 26.939H  0.001H H H  26.914H  26. 4841 H 1. 05% ¥
3
i ~
—_ Ed 1
T m ; S
L3HIP.6 H 540 65.404 26.96H  26.960] H H H  26.93aH  26.504H H 12 i >
T Lijn o
% ® s
Heroo  H s.60H  71.00H  26.99H  26.990H H H 26.955 1  26.955  26.525 H 1. 50%
Hno. 4 H 9.00  80.00H  26.95H 26950 H 26.906H  26.4761 H 1. 845
T
e b1, a4
I3HiPT H 6.15H  86.15H  26.90H  26.906H H oo0s 26.874H  26. 444 H
:
ES
H+3.00 H 6.85H  93.00-  26.74H 26.737H  0.003H] 26.713H  26. 283 H [F0. 85%
Hno. 5 H 7.00H 100.00H  26.55H  26.562H H oon 26.541H 26111 H 0. 5%
|
Hep H  20H 120 265H 265191 H o009 26.474H  26.044H H Hrsot W
Gl ol
ﬁ,& i
= N
B
ajn
E
-
e
EES
RSN
=5
o
SH
RIEEREIEEE
= ENRCS B
= A 1AL
alz|lE|s|x|> |8
&
_ B
E | =
ﬁsﬂ i = ¥ ®|
FZ B | g | B
NEINELS
| _|=|z|® |.
Gli| ®|=|a i
&z =5l |2
| o
_ =3 #




